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Quiz Date: 17th August 2020 
 
Directions (1-5): Study the following information carefully and answer the given questions. 
Seven scientist A, B, C, D, E, F and G belongs to different country Japan, France, Russia, 
Australia, China, India and Germany but not necessarily in the same order. They are living 
on a seventh-floor building, lowermost floor is numbered as 1 and topmost floor is 
numbered as 7.  D lives on fourth floor but he neither belongs to China nor Australia. F 
belongs to Japan and he lives either sixth or third floor. C lives on first floor. E belongs to 
Germany. B does not live on seventh floor. The one who belongs to Australia lives on 
second floor. F does not live immediate below G. A lives on fifth floor and he belongs to 
India. The one who belongs France lives on floor Seventh floor.  
 
Q1. Who among the following lives immediate below F? 
(a) the one who belongs to china 
(b) G 
(c) D 
(d) the one who belongs to Australia 
(e) C 
 
Q2. How many persons live in between G and the one who belongs to Russia? 
(a) Four 
(b) One 
(c) Two 
(d) Three 
(e) No one  
 
Q3. Who among the following lives exactly between A and C? 
(a) F 
(b) G 
(c) D 
(d) B 
(e) E 
 
Q4. How many persons live below the one who belong to Germany? 
(a) None 
(b) Two 
(c) Three 
(d) More than three 
(e) One 
 
Q5. Who among the following belongs to France? 
(a) E 
(b) G 
(c) B 
(d) C 
(e) D  
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Directions (6-10): Read the given information carefully and answer the questions: 
Twelve Persons are sitting in two parallel rows -A, B, C, D, E and F are sitting in row 1 
facing south and I, G, K, L, M and N are sitting in row 2 facing north. Therefore in the given 
seating arrangement each member seated in a row faces another member of the other 
row. L sits third to the left of I. F does not face I. Neither L nor I sits at extreme ends. G sits 
at one of the extreme ends. Only two people sit between G and M. F is not an immediate 
neighbor of E.  M does not face F. Two persons sit between B and C. F does not sit at any of 
the extreme ends. E faces L. C is not an immediate neighbor of E. A does not face I. K sits left 
of N.  
 
Q6. Who among the following sits diagonally opposite to C? 
(a) G 
(b) F 
(c) K 
(d) I 
(e) None of these 
 
Q7. Who among the following sits third to the left of E? 
(a) D 
(b) F 
(c) A 
(d) C 
(e) None of these 
 
Q8. Who among the following faces M? 
(a) A 
(b) F 
(c) C 
(d) B 
(e) E 
 
Q9. Four of the following five form a group, which among the following does not belong to  
this group? 
(a) G, F 
(b) N, E 
(c) M, A 
(d) I, B 
(e) L, A 
 
Q10. How many persons sit between N and K? 
(a) Three 
(b) Two 
(c) None 
(d) One 
(e) More than Three 



Bankersadda.com Reasoning Ability Quiz for IBPS RRB Prelims 2020 Adda247.com 

 
Direction (11-15): Study the given information carefully and answer the questions that 
follow: 
Eight friends A, B, C, D, E, F, G and H sits around a circular table in such a way that four of 
them face opposite to the center while rest face towards the center. 
G and C face same direction but opposite to D and B. D sits third to the left of H, who sits 
third to the right of B. G sits third to the right of F. A sits opposite to D. E sits opposite to C, 
who is not an immediate neighbor of B. F doesn’t face outside. D is not an immediate 
neighbor of F. A faces towards the center. Not more than two persons sit together facing 
same direction. 
 
Q11. How many people sit between H and D when counted from the right of H? 
(a) None 
(b) Four 
(c) One 
(d) Three 
(e) Two 
 
Q12. Which of the following is true regarding A?   
(a) Both F and E are immediate neighbors of A 
(b) Only three people sit between A and G. 
(c) A faces outside 
(d) F sits second to the right of A 
(e) None of the given options is true.  
 
Q13. What is the position of C with respect to G? 
(a) Second to the left 
(b) Third to the left 
(c) Second to the right 
(d) Fifth to the right 
(e) Fifth to the left.  
 
Q14. Four of the following five are alike in a certain way and so form a group. What is the 
one that does not belong to that group? 
(a) B 
(b) C 
(c) H 
(d) E 
(e) G 
 
Q15. Who sits second to the left of F? 
(a) G 
(b) B 
(c) D 
(d) A 
(e) None of these 
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Solutions 

 
Solutions (1-5): 
Sol. 

Floor  Person  Country 
7 G France 
6 E Germany 
5 A  India 
4 D Russia 
3 F Japan 
2  B Australia 
1 C China 

S1. Ans.(d) 
S2. Ans.(c) 
S3. Ans.(a) 
S4. Ans.(d) 
S5. Ans.(b) 
 
Solutions (6-10) 
Sol. 

 
S6. Ans.(c) 
S7. Ans.(a) 
S8. Ans.(d) 
S9. Ans.(e) 
S10. Ans.(b) 
 
Solutions (11-15) 
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Sol. 

 
  
S11.Ans.(b) 
S12.Ans.(d)  
S13.Ans.(c) 
S14.Ans.(a) 
S15.Ans.(d) 
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